2025 4 /8

No.2232

B R B2 HAKHA R

EQ ﬁ:gl: —wRlinEnES
L\ |
Y 1% Hr

A A PR
L

BOTERKEERFFIAZH 3 A, BFENKSE (REREST) TIbh, MESKFI9ER) 4EENERBER L
Lo EETKHBEG6EBV, FERRASKLTALTIRREF 5,

a AL



=\ ‘

=
e

LALHAR
e v&

¥ contents

R =

K mmnmnD

(7o &[] o0&

AR

AT B AR DR BT ER
TORE R BPERBEE 958 oo

HE

By % 4 7 L7z 20-30RD £
FIREFE M T 5 AN RGHIEAL

AR

[ZFeE % TAM ] THIE—3
BIBURIC 72 & 72 W 5355 DO il

KENBEXUTINT—=IEF

BRI R WA U 72 WA 56 ]

PLEHFHBTODAY

SHOEZLRH=2—A

12

13

14

20254 /8 No.2232

=5 [

Q2025 5AEHREES

S5A7AK)F #1830 ~ 36

Xy —a (BKHE-ER

HETIHEIRA)

EAT  AREARIEEER
WE @REK

(202556 AEHFRES
6A19R(AR)F#18F50% ~ 3kF
A1 vIk—J)bIan< (F

XL TET)
Bt M 42—35LZ=Xb
TRl 2%K

MBS0 A SRS H TR
RERSERETSTETT,

O2025%7TAENEES

7R15B () F %1830 ~ 3%

BERAFEAS VWKR—IL (KK

H-BERAEFETSHEILA)

AN MEEIAFAARE
BEimMEt4—F
R HAERK

[B515 8] WEINBREFAT
3. S (B bl IC&E
EEOFE MO HIT Rk
B, AELrEYry o vaiibt s
FEELRLEFERTBHL 0 FE
To OB WE DL EITES
JRB045 (226) 2121,



MR A [E] S5

(O xmUEEL-NNBEY
R [ERO<AE-ECEEH
SN | % D R
DY MA@ YU YU 411D
BREDAC

FHHUEER ornBA-
FRABR—2" EOKEHR
EEomIRNENS [8F 4]
AR Q EEE AN N2V — 2 Ao s QEE A
D480 °

DR BN [wmi)0] Y
[P —2= (5) wERS
FHl] | [BRIR] PR
MR HERUSVOEERS R
Sy B IFCRV IR AP Vi S
B O B8.04875°

MR B EEKERC [HHE | ©°
F-PMEEBRHRRV S0
BELORN IV TS 5 ROW° O
=7 s bl D RRH” K

HREBE4 00 48re°
REEHED H N [
AV QEED QMo S | UKD
REHSMEWIROLHL™ 10
Rn0° [Asv s [ | BES
Y RRm- Paifhd—
o~ QEMRBHEC] V5
o BN R Y S o XERAS
RRT RECTIHEERR LT’
QS QIE S DO =
HEOS |

| RYgED” BE2LnNIK
BHECIEIEIT R E M
SREBM VR SRUBER-
NN R R R (10K R R
WRRWREK DL RHEFRGA
WRoIRY R Bl s
A DR 00 IR BSBLERS
B| BUBERLO2HWIWVS
00 RBENS

MR EBOIRQM SIIES
BRSO E FHCHRHDKAW
ACREQ R’

R YRS IRV LB
BB S RERKEBRR
KB [KEEHRRIW ] L
B BRERFRWOLRNR
o< U UEREU R

N OB RERK SR EH
B [HHo—oR] LR ER
ANNHSBH L0080 UWiO
A S O VEREEA Y S 02 s N0
IR OV REKE TR
YR [RINEORE | L° m
LR GBEDSBE VD #
HRBRIKASA-2400 SR-<
ol 0 L0

(RS 5 QO B0 RKRO4S
510 M5 Has 3 R IR Y &
HE O VR Te ) W BE DY
5% oo VA< R EN R
ORI E O VB KRRy
Ty 50 HEoPIREED O Q[
e | B 5 VB R4S 50
(B =R R R

2R R



